
LEADS 4th Sept ♠♥♦♣

Brd 1: 4th highest lead, Defence
should lose 2nd trick to keep entry

Brd 2: Lead singleton if hold poor
trumps

Brd 3: Top of doubleton in
partner’s suit

South West North East
1D 1H Pass 4H All Pass
East’s 4H - (12HCP & singleton & 9th trump)

Lead:North leads ♦8 (partner’s
suit - top of doubleton)
Losers: (1H, 2Ds & 1C) - look to
discard ♦ loser on ♠
Play: If lose leadN/Swill win 2
more ♦ tricks. So play ♠A& ♠K
discarding a ♦ on the ♠K. Declarer
can then draw trumps.

Brd 4:draw trumps? discard losers

Lead:DK (top of sequence)
Losers: 4/5 losers (1 or 2 spades,
2Ds & 1C) - look to clubs to discard
losers
Winners: 8 sure winners
Play: Shouldwedraw trumps?
=> Yeswon’t lose lead
Win lead & play ♥K then ♥Q from
West then the ♣3which loses to
South’s ♣A (but we have left ♥A in
East as an entry). South should
return a ♦&N/s cash 2 ♦winners
but can discard losing ♠s on
winning the ♣s

Brd 5: 4th highest, East return top
of ♥ sequence to trap ♥K

Brd 6: 4th highest, return top of
doubleton in partner’s suit



Brd 7: 4th highest, lead amajor

Lead: ♥4 (4th highest)
Winners: 6winners - need to
promote clubs & diamonds but
will lose the race!

Brd 8: 4th highest lead

WestNorth East South
2NT P 3NTAll Pass

Lead: ♥6 (4th highest in longest &
strongest suit)
Winners: 7 need to promote ♣s
Play:Southwill winwith ♣A& lead
back a ♥. N/S will make 4 ♥& 1 ♣
trick to get the contract down.

Brd 9: 4th highest lead

Bidding:
North East South West
1D 1S Pass 3S
Pass 4S (15tp) All Pass
West’s 3S (11HCP + 1sp) - invitational

Lead: ♦T (top of sequence in
partner’s suit )
Losers: 4 (1H & 3Ds) - look to
discard ♥ losers on ♣s
Play:Northwill win first 3 ♦ tricks
& then likely play ♥K to try &
promote the ♥Q. East should win
with ♥A& then draw trumps. The 2
losing ♥s can be thrown on ♣s

Brd 10: 4th highest lead

Lead: ♠s (top of sequence)
Losers: 2S 1H (try finesse) 2 or 3 D

Brd 11: 4th highest lead, lead a
major

Lead: ♥3 (4th highest)
Winners: 6 - 1H 4D 1C need to
promote ♠s
Play:Declarer should play ♥Q
hoping the ♥K is withWest. It
doesn’t work & E/Wwill make 4 ♥
tricks & the ♠A

Brd 12: 4th highest lead

Lead: ♠J (top of sequence - interior
sequence)
Winners: 9 - 4 likely 5D 4C
Play: East’s ♠Q is trapped & E/W
straight awaymake 5 ♠ tricks & 1 ♥
trick.


